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DO0O000000000 Question Four considered a
professional qualifications body considering the implementation of
e-assessment. The first part of the question,worth fifteen marks,asked
candidates to evaluate the perceived benefits and costs of adopting
e-assessment.In general,this was answered well by most
candidates.Some scored very high marks,showing excellent analysis
given the time constraints and pressure of the examination
situation.Candidates who marginally failed this question usually did
not provide sufficient discrete points to gain the marks on

offer. There was often too much repetition of the “ reduces costs”
benefit. The second part of this question asked candidates to explain
why establishing a business case,managing benefits and undertaking
benefits realisation are essential,despite the claimed * self-evident’
justification of adopting e-assessment.As mentioned in the
introduction,this part of the question was poorly
answered.Candidates failed to focus on the three elements. business
case,managing benefits and benefits realisation.Even rudimentary



parts of the business case,for example,the need to undertake formal
Investment appraisal,was rarely raised by candidates.Many
candidates marginally failed this question because they did not
answer the second part of the question or only offered two or three
sentences that largely reflected the information given in their answer
to the first part of the question. 00 I O I OO #0000ff>201101 6
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